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 第 11号の解答 

                      左図のように，点 Pを通り辺 AB，ADと平行な直線を引くと 

                               △＋◎＋◎＋●＋●＋□＝16＋30＋24 

                                          ＝70 

                          また   △＋◎＋●＋□＝16＋24＝40 

                          よって， ◎＋●＝70－40＝30 

                          ゆえに  △＋□＝40－30＝10 

 

                          ここで，△：□＝AQ：QB＝(△APDの面積)：(△BPCの面積) 

                                                   なので 

                              △：□＝16：24＝2：3 

                          よって，□＝10× 3

5
＝6       答え 6㎠   
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